Running Long Jump 
 2nd                                            K-1                                                  3rd – 5th
Over 7’ = 100                                         Over 5’=100                                                    Over 9’ = 100
[bookmark: _GoBack]7’ – 6’6” = 95                                          4’-5’= 90                                                         9’ – 8’6” = 97
6’6” – 6’ = 90                                          3’-4’=80                                                          8’6 – 8’ = 94
6’ – 5’6” = 85                                          2’-3’=70                                                          8’ – 7’6” = 91
5’6” – 5’ = 80                                          0-2’=60                                                           7’6” – 7’ = 88
5’ – 4’6” = 75                                       All scratches=50                                              7’ – 6’6” = 85
4’6” – 4’ = 70                                                                                                                    6’6” – 6’ = 82
4’ – 3’6” = 66                                                                                                                    6’ – 5’6” = 79
3’6” – 3’ = 64                                                                                                                    5’6” – 5’ = 76
3’ – 2’6” = 62                                                                                                                    5’ – 4’6” = 73
2’6” – 2’ = 60                                                                                                                    4’6” – 4’ = 70
2’ – 1’6” = 58                                                                                                                    4’ – 3’6” = 67
1’6” – 1’ = 56                                                                                                                    3’6” – 3’ = 64
1’ – 6” = 54                                                                                                                       3’ – 2’6” = 61
6” – 0” = 52                                                                                                                      2’6” – 2’ = 58
ALL Scratches = 50                                                                                                          2’ – 1’ = 55
                                                                                                                                           1’ – 0” = 52
                                                                                                                                           ALL Scratches = 50


Students must jump from one foot off of the court and land in the pit on two feet.  Measurement comes from the body part closest to the court.
